HOBLREEOKSRAERE—S

TR23%E 128108 8IE
A REFERL4 Sv/h] - BEAER 4 Sv/h]
e BIEXER =X =X =X "% = BIEXER B X B e
100cm 50cm 5cm 100cm 50cm 5cm
1 |EREHRR 0.06 0.06 0.07 21
2 |(EISRISFAAET (db) 0.09 0.11 0.12 22
3 |(EISRISFAET (RO) 0.08 0.08 0.12 23
4 |HET(EELHE) 0.07 0.07 0.07 24
5 |U=EiE (FEFIED) 0.07 0.08 0.07 25
6 |U=FiE(FE) 0.06 0.07 0.07 26
UxE
T (@b asagkEm) 006 | 007 | 007 27
8 UFiE 0.07 0.08 0.07 28
(1 AABRITIKEE) - - -
9 UFi# 0.08 0.08 0.07 29
(OEDLYFHBIKER) ) ' '
UFE
10 loEbumsokas | 007 008 007 30
11 |u=iE (&) 0.07 0.08 0.09 31
12 |4E#k (TP 0.07 0.08 0.08 32
13 |HE# (TR 0.08 0.08 0.07 33
14 |4E#k (FAEEA) 0.09 0.09 0.10 34
15 |HE# (EEREA) 0.08 0.09 0.12 35
16 |#E#k (FAEA) 0.08 0.10 0.14 36
17 (w15 0.09 0.09 0.09 37
18 38
19 39
20 40

MAEHRIL REDMERZES R,




;U%wﬁ%&ﬁﬁ{

ik

—oH ||

RESEE




